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𝑥 + 𝑥 +

𝑥 𝑥 =

𝑥 𝑥 = −

𝑥 + 𝑥 =

𝑥 + =

−3

𝑥

× 9

51

𝑥

+ 5 × 3

𝑦

14𝑏
+ 2 × 7

𝑦

14𝑏
× 7 + 2

𝑦 + 2

16𝑏2
2

100𝑦2

𝑡 − 7
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𝑥 = 𝑥

𝑥 −
−𝑥

𝑥 =
𝑥 − =

𝑥 𝑥2 ≠ 𝑥

𝑥 =

𝑥 + − 𝑥
𝑥+7

4
𝑥 −

𝑥2 𝑥2 𝑥 𝑥2 + 𝑥 −

𝐴 𝐴 =
1

2
𝑎 + 𝑏 ℎ

𝑎 𝑏 ℎ

𝑆 𝐷 𝑇

𝑆 =
𝐷

𝑇

𝑦 = 𝑦 = −
𝑦2 − 𝑦 − =
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𝑓(𝑥) 𝑓 𝑥 = 𝑥 +

𝑓( ) 𝑓(− ) 𝑓( ) 𝑓(
1
5
) 𝑓( 𝑎)

𝑦 = 5𝑥 + 2

𝑔(𝑥)

𝑔( )

𝑔( )

𝑔(−

𝑔 𝑥 =

ℎ(𝑥) ℎ 𝑥 =
𝑥+3

7

ℎ 𝑥 =
5

7
ℎ 𝑥 = −

𝑓(𝑥) 𝑓 𝑥 = 𝑥2 − 9

𝑓( 𝑥) 𝑓(𝑥 + ) 𝑓 𝑥 =

𝑓(𝑥) 𝑥 𝑓 𝑥
𝑥 𝑓( )

𝑥 =

𝑓(𝑥) 𝑓(2)
𝑓(𝑥) 𝑓(𝑎)
𝑓(𝑥) 𝑔(𝑥)

ℎ 𝑥 = 𝑥 +
ℎ(2𝑥)

𝑓 𝑥 =



©White Rose Maths

𝑓𝑔(𝑥) 𝑥
𝑔(𝑥) 𝑓(𝑥)

𝑓𝑔(𝑥) 𝑔𝑓(𝑥)

𝑓𝑔(𝑥)
𝑔𝑓(𝑥)
𝑓𝑓(𝑥)
𝑓𝑔( ) 𝑔𝑓( )

𝑓( ) = 𝑔( ) = 𝑔𝑓( )

𝑓 𝑥 = 𝑥 + 𝑔 𝑥 = − 𝑥

𝑓( ) 𝑔( ) 𝑓𝑔( ) 𝑔𝑓( ) 𝑓𝑓( ) 𝑔𝑔( )

𝑔 𝑏 = + 𝑏 ℎ 𝑏 = 𝑏2

ℎ𝑔(𝑏)
ℎ𝑔(𝑏)

𝑓 𝑥 = 𝑥 − 𝑔 𝑥 = − 𝑥 ℎ 𝑥 = 𝑥2 − 36

𝑓𝑔(𝑥) 𝑔𝑓(𝑥) 𝑓ℎ(𝑥)

ℎ𝑓(𝑥) 𝑔ℎ(𝑥) ℎ𝑔(𝑥)

𝑓𝑔 𝑥 = 𝑓𝑔 𝑥 = 𝑔𝑓(𝑥)

Tommy

ℎ𝑔 𝑏 = 5 + 3(2𝑏2)
= 5 + 6𝑏2

Eva

ℎ𝑔 𝑏 = 2(5 + 3𝑏)2

= 2(25 + 9𝑏2)
= 50 + 18𝑏2
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𝑓(𝑥) 𝑓−1 𝑥
𝑥−1.

𝑦 = 𝑥 + 𝑥 𝑦

𝑓( ) = 𝑓−1( )
𝑓𝑓−1(𝑥) 𝑓−1𝑓(𝑥)

𝑓(𝑥)

𝑓−1(𝑥)

𝑓(𝑥) 𝑔(𝑥)

𝑓 𝑥 = 𝑔(𝑥)

𝑓−1(𝑥)

𝑔−1(𝑥)

𝑓−1 𝑥 = 𝑔−1(𝑥)

𝑔 𝑥 =
7𝑥−1

2

𝑔−1(𝑥) 𝑔𝑔−1(𝑥) 𝑔−1𝑔(𝑥)

Given that ℎ 𝑥 =
5𝑥+2

𝑥+4
, find ℎ−1(𝑥)

+ 5 ÷ 2𝑥 𝑓(𝑥)
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𝑦 = 𝑥 + 𝑎 2 + 𝑏 (−𝑎, 𝑏)

𝑦 = 𝑥2 + 5𝑥 − 1
𝑦

𝑓 𝑥 = 𝑥2 −

𝑦 = 𝑥2 + 3𝑥 − 1

𝑦 = 𝑥2 + 3𝑥 − 1

𝑦 = 𝑥2 + 3𝑥 − 1

𝑥2 + 3𝑥 − 1 = 0

𝑦 = 𝑥 + 𝑎 2 + 𝑏

𝑦 = 𝑥2 + 8𝑥 − 7 𝑦 = 𝑥2 − 12𝑥 + 1 𝑦 = 𝑥2 − 7𝑥

𝑥 −3 −2 −1 0 1 2 3

𝑦
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𝑥 < −3 𝑥 > 𝑥

𝑦 < 0 𝑥
𝑦 < 0

> ≥

𝑥2 + 23 𝑥

𝑓 𝑥 = 𝑥2 −

𝑓 𝑥 <

𝑓 𝑥 >

𝑥2 − ≤

𝑔 𝑔 𝑥 = 𝑥2 − 𝑥 −

𝑔(𝑥)

𝑔 𝑥 >

− 𝑥 − 𝑥2 >
− < 𝑥 <
𝑥 < − 𝑥 >

𝑥2 + 𝑥 + ≤
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sin 𝑥 sin−1 𝑥

𝑥

𝑥

𝑥

𝑥

𝑥

𝑥


